

12/02/2024

Page 1 of 1

**Vendor Ranking** 

Letting:

08241119

November 19, 2024 02:30

Call Order: 002

Contract:

E8V65-R0

District:

Turnpike

Counties: BREVARD, BROWARD,

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

HILLSBOROUGH, LAKE,

**Project(s):** 19077865212 (\*)

Contract Desc: Wildflower Installation and Maintenance

PM

MIAMI-DADE, ORANGE,

OSCEOLA, POLK,

SEMINOLE, SUMTER,

**TURNPIKE** 

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1 AIRBOAT	ADDICTS, INC.	Responsive	Winning bid	\$261.360.00	100.00%	Intent to AWARI

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: DECEMBER 3, 2024 AT 4:00 PM





#### **Tabulation of Bids**

Page 1 of 4

**Letting:** 08241119 November 19, 2024 **Call Order:** 002 **Contract:** E8V65-R0

District: Turnpike Counties: BREVARD, BROWARD, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

HILLSBOROUGH, LAKE, Project(s): 19077865212 (\*)

MIAMI-DADE, ORANGE,

Contract Descr: Wildflower Installation and Maintenance OSCEOLA, POLK,

The work specified in this contract consists of providing all labor, materials, equipment and incidental precessary to prepare, plant and maintain various wildflower areas along Florida's Turnpike. Work will be geographically open to the entire Florida Turnpike System which includes Florida's Turnpike mainline (SR 91), the Homestead Extension of Florida's Turnpike (HEFT) (SR 821), Sawgrass Expressway (SR 869), Veterans Expressway (SR 589), Beachline West Expressway (SR 528), Suncoast Parkway (SR 589), Polk Parkway (SR 570), Seminole Expressway (SR 417), Western Beltway (SR 429), East-West Expressway (SR 408), Beachline East Expressway (SR 528), Challenger Memorial Parkway (SR 407), First Coast Expressway (SR 23) from Interstate I-10 to SR 21 Blanding Boulevard, and Southern Connector (SR 417).

#### NO PRE-BID CONFERENCE WILL BE HELD FOR THIS CONTRACT

Line No / Item ID Alternate Item Description	Quantity Units	(1) AIRBOAT A	DDICTS, INC.				
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (V	WILDFLOWER	S (AC					
0005 0700 1500 SINGLE COLUMN GROUND SIGN ASSEMBLY, RELOCATE	2.000 EA	200.00000	400.00				
0010 0700 1600 SINGLE COLUMN GROUND SIGN ASSEMBLY, REMOVE	5.000 EA	120.00000	600.00				
0015 0700 3401 SIGN PANEL, INSTALL, UP TO 12 SF	20.000 EA	50.00000	1,000.00				
0020 0700 3601 SIGN PANEL, REMOVE, UP TO 12 SF	4.000 EA	50.00000	200.00				
0025 E107 2 1 MOWING (LARGE MACHINE)	480.000 AC	140.00000	67,200.00				





## **Tabulation of Bids**

Page 2 of 4

Lettin	<b>g:</b> 08	8241119	November 19,	2024 <b>Cal</b>	Il Order: 002		Contract:	E8V65-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) AIRBOAT A	ADDICTS, INC.				
() in	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(WILDFLOWER	RS (AC					
0030 MOWIN	E107 2 4 IG (SMALL MA	CHINE)	100.000 AC	150.00000	15,000.00				
0035 LITTER	E110 30 REMOVAL		200.000 AC	65.00000	13,000.00				
0040 SOIL LA MATER		AL- IMPORTEI	500.000 CY	48.00000	24,000.00				
0045 WILDFL	E576 4 1 LOWER SEED	INSTALLATIO	80.000 N AC	525.00000	42,000.00				
0050 WILDFL	E576 4 2 LOWER MAINT	ΓENANCE	200.000 AC	210.00000	42,000.00				
0055 HERBIC	E580337 2 CIDE (STRIP A	PPLICATION)	150.000 AC	250.00000	37,500.00				
0060 HERBIO SF)	E580337 3 CIDE (SPOT AI	PPLICATION <	500.000 100 SF	35.00000	17,500.00				
0065 REPAIR	E700 46 31 R EXISTING SI	GN (SINGLE F	8.000 POST) AS	120.00000	960.00				
0	001 WILDFLO	WERS (AC) S	ection Totals:		\$261,360.00		ı		



12/02/2024

## **Tabulation of Bids**

Page 3 of 4

Letting:	08241119 N	November 19,	2024 <b>C</b>	all Order: 002		Contract:	E8V65-R0	
Line No / Item Item Descripti		Quantity Units	(1) AIRBOAT	ADDICTS, INC.				
() indicates item	( ) indicates item is bid as Lump Sum			Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$261,360.00				



12/02/2024

#### **Tabulation of Bids**

Page 4 of 4

**Letting:** 08241119

November 19, 2024

Call Order: 002

Contract:

E8V65-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.